ﬁﬁﬁ S FER X 5 FIA O

SEhig
0~14% [15~64] 65 LI E =t O0~14% [15~64E[ 65 LI E =t
] 10,706 50,287 22,789 83,782 ] 2,871 12,754 6,503 22,128
£ 10,269 51,394 31,006 92,669 = 2,749 13,891 9,364 26,004
&t 20975 101,681 53,795 176,451 B 5,620 26,645 15,867 48,132
R 11.9% 57.6% 30.5% 100.0% R 11.7% 55.4% 33.0% 100.0%
HEAOEE 73.5 tEAOE 80.6
EINEEE 20.6 R ONE S 21.1
ZEAOEHK 52.9 ZEAORE 59.5
[ZEILIER 256.5 [ZEFIETE 282.3
EF 80,973 T 22,613
REits Hh s SRR Hhig
O0~14% |15~64%%| 658 LLE Hi O0~14% |15~64%%| 658 LLE &t
E:] 1,391 6,829 3,685 11,905 E:] 2,181 9,723 4,487 16,391
£ 1,316 7,165 4,934 13,415 = 2,040 9,692 6,109 17,841
g 2,707 13,994 8,619 25,320 B 4,221 19,415 10,596 34,232
R 10.7% 55.3% 34.0% 100.0% ¥R 12.3% 56.7% 31.0% 100.0%
EEAOEE 80.9 EEAOER 76.3
EINSECE 19.3 Y YNSECE 21.7
E-DNNE T 61.6 ZEAOEH 54.6
ZELIER 318.4 ZELIER 251.0
= 11,312 T 15,463
X fia i 2 FEiBith i
O0~14% |15~64%% 65mLLE &t O0~14m% |15~64%%| 65 LLE it
E: 2,618 13,477 5,064 21,159 ] 1,645 7,504 3,050 12,199
E=S 2,622 13,103 6,623 22,348 = 1,542 7,543 3,976 13,061
it 5,240 26,580 11,687 43,507 it 3,187 15,047 7,026 25,260
R 12.0% 61.1% 26.9% 100.0% R 12.6% 59.6% 27.8% 100.0%
EEAOES 63.7 EEAOES 67.9
EINSEE 19.7 FOANOER 21.2
EZEANOEHR 44.0 EEANOEHR 46.7
[ZEILIEH 223.0 [ZE1ETE 220.5
T 20,523 T 5 11,062

TRi2859A30BBHE
ERERER
(BAI:N)

O~14%%-—-FE4 AN (A)
15~64% -£EFHAO (B)
65mLl L - EEADO (C)

EEAOEH=A+C)+-BXx100
FHoAOEH=A+-Bx100
ZEAOEH=C+-Bx100
ZEILEH =C+Ax100

E BRI AEUTE26FM
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